19967 h53INT)VEYIBRBRE

BARKEFLE
> BH.
NO | EERAZ/NO K% WS | 952 /RAVE e T sl
1 | 7—Fz— 1 [E& #X E ST BFEAE BA 5HE
2 2 E— E:] W1ART EAWIARL, BFER&K BEER
3 3 [H5E =+ E ST BFEE BA =ER
4 4 [FEH B— E ST BFEAE BA HERAT
5 5 |[ARH BEE E; W2AR2 SEFEIE, BA HEER
6 6 [t 2R E2 W2AR2 BFERE. EA 2HE T
7 7 K +=% ES W2AR2 EAW2AR2, ZZFHIF, ZBRH
8 8 |[KZE EF E:S ST ZFEIE. BAA AL
9 9 MM #F i W2AR2 ZFEE. BA t2hth
10 [pELERRR 1= —# E T53T4 oY tiEE
11 2 | R¥E BBA E: T12B3 <7 LRz I8
12 3 |FE ¥m 5 T51T2 100m. 200m BEE
13 4 |@n FEsh ] T52T3 200m. 100m E Gt
14 5 B 15 E: F11B1 BT, EEBk Rt
15 A EERE E F11B2 Eo k. EEE it
16 7 A1 —1 E:] T33C4 100m. 400m ITE:]
17 8 [fIEHK =17 5 T48A8 400m., 100m. 200m PN
18 9 [MMH E# E] F35C6 RE S EEE
19 10 |AF FxX E:] T53T4 1500m. 5000m. %5 =]
20 1 |28 it E T12B3 200m. 100m TR
21 12 | &5 B E:] T11B2 400m. TR
22 13 |41l HB E T10B1 <75V, 5000m 3!
23 14 [RE %— E] T53T4 1500m. 735V ZHET
24 15 [kE EE E:] T53T4 200m. 100m. 400m. #HEH
800m, 1500m
25 16 [FiH DYF = T33C4 100m. 200m
26 17 |[Ad BE = T51T2 800m. 400m. 200m ZEET
27 [HESEESS £y F42A2 BT BEE PN
28 19 |tlsh #0 T T53T4 1000m. 735V . =
5000m.
400m, 800m
29 |EHBFN\R7ryk | 1 @ 5h E 1.0 BEE
30 |[R— 2 [IEA ES E 3.0 BEER
31 3 kKX = E:] 2.0 BEE
32 4 |B% & E:] 1.0 TEB
33 5 [INE 1B E3] 15 TEEB
34 6 |HE BHS E: 20 EHE
35 7| KB HBRE 5 4.0 BHE
36 8 |=F "D E: 3.0 EHE
37 9 |1EX #E E:] 4.0 EER
38 10 [#H{R BEAh E:] 3.0 FTEH
39 11 [ & E:] 4.0 TEH
40 12 |R R & E:] 3.0 #HET™H
41 13 |##F BHx = 3.0 BER
42 14 12K =F E=S 2.0 HEB
43 15 | E& %04E = 35 Eg
44 16 &G IEF = 1.0 g
45 17 [AAX BEF = 2.0 #HEE
46 18 |2 EF E 2.0 BHE
47 19 [FxH #BF Z 2.0 SRE
48 20 |l EFF Z 2.0 RIGE
49 21 || Il NES S 2.0 KHE
50 2 |=)Il BEF S 1.0 mETH
51 23 [luO E# = 45 mEH
52 1 5000mAA LMSATIL, -
st NI BEE 8 2 1500m3A LRI 7L BRIRHD
53 2 \aim mEAL 2 2c5/6  |2000mIALETATIL, 2 L

20kmAO—FL—X




NO

A EF/NO

T3

IGSR/RAVE

HiEER/RoLay

ERIE TR -

¥E T A Al
o4 1 |4%E Z2EH 2 —71kg 7 1kgik BEE
55 2 |[HE 518 E: —60kg 60kgik EEE
56 3 |E¥ IEx E: —95kg 95kgik LEE
57 |&E 4 |BEER BB E: —65kg 65kefk mER
58 5 |&1E A& E +95kg 95kg Bk mER
59 6 [Tz & E: —78kg 78kefh HIFE
60 7 [FHE BEEh 5 —86kg 86kgi#k wam
61 |/N\D—UIT45| 1 | K& ZE E: 82. 54k BHE
62 50mBE /.
1 [BKR EfE 5 sS4 100mE B, AR
200mE HEF
63 50mB/BfZ. 100mB/Af.
100mBE k=,
2 e fi— ] B1 200mEANARL—, B AR
100mIE|E.
100m/ A\ 2754
64 100m/\3 5.
3 |hofq &t 2] S10 400mB /B, =i
7Kk 100mEB Hiz
65 4 ﬂig']?’ ;':-.ﬁj % S8 ?835;&!%400”\55’}/\ iﬁ\lngt
66 50m/\ 2754, 50mBHf.
5 |IAK Eth % STSB7 400mE M. 100mE At
67 SOmEEEH%& 1oomggﬁ2\
. 50m& k¥, 200m .
6 |FKE EmR3x k- sS4 150m{BIARL—. g
5om§;‘ﬂ<§ z
68 50mEKE, 5OmE kE, =
7 |HRE f£F k- S5SB3 100mE B EE™
69 1 [FE Eth E: 9 BA.A—T>. BFHIK EER
70 2 |#EH 8= E: 9 BA.A—T>. BFHEIK ZREE
71 | =Bk 3 [#K fE— E: 8 BA.BFHEK AT N
72 4 |EH & 5 8 BFEEBEA AT K
73 5 [BK EFHK £ 9 [EPN EER
74 1 | K&%F BR E: =T BFUTILR . BFEIILR Eg
75 EETEoX 2 |FH (BT E:] r—T> BFUTILR BFEFITILR =58
76 = 3 [tk E£& & *—To EF IR EFEIILR LR
77 4 | KT FHRF Y T TFUVTILR ZFETILR ABRH
78 [HEEEE 35 5 vk ERt
79 |5y 2 (B IEFO ] EPIN EE
80 3 [EA/JI Ex E: EPIS EE
81 4 |F1HE #% E: Ivk FHE




